W
L

,_OE
E

ﬁo

X
Tl

—~—
,_OL

L O
N

®
129
@ 169
®
20 HH

@10‘?1

© 54




B t C

AB =DC, AD = BC 2%l oABCD A
HAS}HCEoloH

AABC ¢} ACDA ©f|A

AB=DC (7}4) ---®

BC=AD ("}4) ---©

[ =E5---©

A, ©, ®°l 2514 AABC = ACDA (SSS &%)
/BAC = /DCA°|E&

AB//DC---®
(ACB = /CADO|E=
AD//BC---@®

®, @°l 9JsliA DABCD = B BAFR G ol

®pc @Bc ©®DA (@Ac ©BA

A
@)
rlr
o
of




3.

“gold Aol ZF Holl= 1914 207b2] 9] 52217} 220 QI o] A o]
ARA FAE A QRS 1), 49 Ui E 249] oFvh e
73"?— TE: 0]'0131'.

> E 712

> ®E: 9717

491 vj4=: 4, 8, 12, 16, 20 » 5714
240 9F=1 1, 2, 3, 4, 6, 8, 12 > T7HA
w2bA] 9 7px] o]},




th& 199 pABCD = AD // BC ¢l SH¥Att g Zolth, AB//DEY
o, BC o] Zol&?

A Jdcemg D

=2
=
Q

@D 16 Q@ 17 3 18 @19 ® 2

AB //DE°|E2 /ABE = /DEC = 60°°] 1

ODABCD + SH¥Alt 2|0 B2 /ABE = /DCE = 60°°]t}.
watA] ADECE 4zgoltt,

EC = AB = 120]|2& BC = 7+ 12 = 19(cm) ©|t}.




ABCOA D, E, F=d¥E2: 124 A

H5H= o]tk AADF = 4cm? € o, ADEF F
o |ole?
D
8 32 46
@® §cm2 @ jch ® 501&12 B—— =5

AADF = gAFAB = 2 <1AABC) = 2AABC
3 3\3 9

n}xH7}7] 99 0 2 ABDE — ACEF — gAABC

wabA] ADEF — éAABC

199 AADF = 4cm? ©|BE2 AABC = 18 cm?
ADEF = 6 cm?




& T9e] 24179 ABCD o4 AB = 5, BC = 8 o]tk aACD
o] Y41 12 A1} @ AB, BC o s 142 10| DABCD o
Yl M g 42 747H B F,G.H 2 & 0, oGBFI 9] Holg 7
sholat

A E_D

i

vV V¥
0x
iy

20

B \

A E_ D

ab—>L [ I\H

N

B F C
A1A AC of & +4& ¥ J 2 okal AC 9 EF , GH
¢to]l wH¥S K, L o|gt

ACFK 2} aAlJK ©of| A

(CFK = /IJK =90°

(CKF = /IKJ (%27

CF=HI=1J

ACFK = alJK (ASA %)

Zre v o= AAGL = AlJL

. OGBFI = AABC = %DABCD = % X Hx8 =20




